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Problem 6.2 Modify  the answer. 
Ans: R = 0.532; P = 1.2 hp; Ns= 1.17; Δpstat= 0.044 psi; Δpstag= 0.082 psi
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Top of the page: 
Delete the table above the answer: Ans: R = 0.691; ……. This table appears in Prob. 6.10

	Problem 6.5 : The first line should read as : 
An axial flow fan has a hub to hub to tip diameter of 0.30,
 
Problem 6.8: Add the following sentence to end of problem 
		Width of blades is 8 cm.

Modify the answer: 
Ans: η = 55.7%; exit fluid angle = 27°; P = 1.6kW

Problem 6.9: Modify the answer: 
Ans: R = 0.014; Δpstat= 0.00043 psi; Δpstag= 0.031 psi

Problem 6.10: Insert the following table after the first line:  
The following data refer to a centrifugal fan spinning at 1200 rpm:

Degree of reaction			= 0.6
Exit diameter				= 60 cm
Blade width at exit			= 6.9 cm
Blade width at inlet			= 7.5 cm
Power input into the fan		= 4.5 kW
Flow rate				= 3 m3/s
Exit blade angle				= -720

Modify the sentence “Calculate the blade angle …” to read as given below
Calculate the blade angle at inlet, and the efficiencies based on both static and stagnation conditions.
Ans: ηstag= 89.6%; ηstat= 53.7%

Problem 6.11: Add after the last sentence. 
Width of blades at exit is 10 cm.

